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* Note
Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Section : General Awareness

Q1 Fofifed ¥ } Br-ar, de1 e & SR R de1 g1 g1 nfiardt e B gam
T GYUR e 872

Ans X 1. TR1E GHI BIS &I
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o 3. 3(diid H ST BTS &
X 4. g2 Td SeR-HR H faymg 7 B
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Ans X 1. dffcErg
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Q.6
Ans

Yaradl § Afgersl @ geaw e gfifda ot g 7
X 1.40%

 2.33%
X 3.50%
X 4.25%

Q.7

Ans

YRa-Rrelt Ty gaae (3d 2025) T U PTA &Y SATUS T 3l HI1 Bi
fe=m o araf @t grvon # 75

X 1. garHyg

& 2. 3% Hrfier T
X 3. 4ad SATUR qHEiid

X 4. AU (NAFTA)-CTSd ¢

Q.8

Ans

IfHTur F BRI NS T WAT-UR W4T (cross-border flows) TeT 81 A IHI0T &
siafa pi=-aft Hifa M sxaiaror &) werfa sl 82

& 1. FDI & 7Y aaferd ¢ (Automatic route for FDI)

X 2. APIHRT (Nationalisation)
7< 3. 3MaTd UfarRTe= Hifd (Import substitution policy)

X 4. AYRIT IS (Licensing raj)

Q.9

Ans

WadesT & Aaryg URa F Fufered & 3 o a3 R §2
o 1. AT T

X 2. giamm

X 3.f@R

X 4. 3fifs=m

Q.10

Ans

WIgal 3R BIee &) ARG BT 71 Wga@qul 82
X 1. g ATedR eid B & o
X 2. STy HI WK G F g
X 3. YR I doll g & o
& 4. BISal DI 3EHI Y ger 3R S b Uga- & forg

QN

Ans

e § aftfa Widerels TR w=mea & wxmafee uge @), e @ St fean
ST AT?

X 1. A%
X 2. UelRie
o 3. MRS
X 47T

Q.12

Ans

Fa gy WA gRT 2025 H AT fHY MY "SR JR&T UIdT BT MRS Ie3T 18?2
X 1. Iy uga & Arem ¥ smgdied il & il &Y aerar &

o 2. oa-erga § yme fagmonl vd ufaga st ufafosansft o AifeR &

X 3. URUR® IUARD| B! FHIOIT HRAT 94T ITAR YIS Id bl DI DAl

X 4. {SRcd St & W1 ¥ MY Sarsit & SHTaTd B ¢ BT

Q.13

Ans

g & Hifa Frdze Risial o1 aga Pafafa i3 s g2
o 1. TAUS ITART &1 SRBR
X 2. IRTR & favg siftRen
X 3. SRS ifd SR &M 3T Sgrar &1
7 4. YUl & Wac=al
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Q.14

Ans

s 2025 ®, DRDO A Y eI do-19 HUHC FT HDIP TSS I FIP T
Tgayul Iuafsd giRea #i?

X 1. BTSUREU HISIW (Hyperloop Module)

52 “\ECR@W HIIXR (Supersonic Combustor)
< 3. ol MiueR R (Ramijet Propulsion System)

w* 4. T HSC JIIn ] hIdIcY (Scramjet Subscale Combustor)

Q.15

Ans

A & fram & IgER, ARG URT F1 f=m 39 yeR gt @ 75 |
X 1. I8 Y91 yare B uRad- & Jgradr HRar 8

& 2. U8 99@ 14 vate ® uRad- &1 UfaRIY ol §

X 3. U8 Ugad JaD 1T &7 P Uad Hadl §

X 4.8 I9P1T & ) I RE T F3RR B 31§

Q.16

Ans

;g%zozswaﬁ@rh%aw,ﬁaﬁl@aﬁﬁﬁmsﬁﬁﬂmmmm
?

X 1. TSI #3y

X 2. 3SR AR
X 3. 3. 7 grel

& 4. 1. 9 Hifd 9y

Q.17

Ans

YR & qdf de W R #19-31 3fta v eyl Wimnfere w@w=em 82
1. e 3ia

X 2. 9% Fd

X 3. sdgd

X 4. g

Q.18

ISR T919 3R A= dE&ATIAC P 1¢ a9 2025 H ECOWAS A foh i 3= &) Ig=aar
TG &Y sfreTie |r=ar & 1$72

Ans X 1. TTSSIRAT, O 3R RN
X 2. e, R ofiR Ry ferai=
X 3. arsaf, die I emgaR 3R A
o 4. TR, I BRI SIR AR
Q.19  Jfiprur A URd & frafa A f6w yoR geraar 1 82

Ans

Ans X 1. ®IS T AT RSP
X 2. 390 O S b
X 3. 39 W ufaey @ e
o 4. 30 <=1 1 Faid SgTeh
Q20 TIUAT & HiHSI P AR, 2011 & HRA & {5 S5 AR UG H 9™ e saen

U gof fohaT TT?
X 1.9gR

o 2. faeht

X 3.9

X 4. qegln
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Q.21

Ans

T URA BT HIF-TT e o IR A1 & T CAR 11 AUt W™ R+ arer ugern
TR I 74T, S WS 2025 B JAH HIR SUAR A TH Ageayul wifa &) gxifar 82

X 1.53R
X 2.3AR
o 3. TR
X 4. Hu@

Q.22

Ans

PI-9T1 g8 3], Tiel & FHoif HsRUT & fig g1 v Rer 82
o 1.
X 2. gfaad 3w
X 3.UdH
X 4. fqeftm

Q.23

Ans

farwr Tshara ura: FET S 82
X 1. 31fd I=-FaTS AT HeRal o
X 2. YRy S & Fde
X 3. Iumfesehy fAg-gre &=t o
o 4. AH-3feieT &l |

Q.24

Ans

LSICUERICA A s gha gk ac (R CkI

X 1. 1A 3(d 31U 8] 8N IT Uy Tal P! ol Fopii |

X 2. ISd ] BIHC U TRICYH I 79 511 P ot Taaifard 0 I 99 gl I g |
« 3. TRIeTH H uRad™ &t gfY o3 & g T anfiv fa o1 et 21|

X 4. TISd DI fordlt R UIUTH & Wisd HiHce § 96d faa1 ol g |

Q.25

Ans

fFrafiafEd & § S9-91, YRd $ YT a1 831 (376 GBI IaT & JaHi & AJ9R)
PTUTH 81 87

X 1.39m@
X 2.fagga
X 3.39e

o 4 TUAR

Q.26

Ans

frafefad # @ fra sf¥fFas 3 YRa § siufrafre o1e & M Uidig TR W) 89 e
P FHTW B fear?

X 1. HRdIg gRye sffefad, 1909
X 2. 1853 HT1 AR AT

o 3. HRd PR HfUFTH, 1935
X 4. URd WHR I, 1919

Q.27
Ans

forar ofk wfafsrar aat & Jdy # Fafafaa & @ s9-w sy ad 82
< 1. fora 3R ufafthar 56 T & e R &1 HRd § 8IR U gk &l AR R 3 €
& 2. fopar SR ufaforar sa gam, faudia g § aun - el ® o #d €1
X 3. b ga oo & ufafrar @ ot St 21
X 4. foft frma & faft umil & dtwr sifafe fsar ofik wfafesan 9@ e 6t g &1

Q.28

Ans

2025 B 3fig U= IoT H 5y oo ga 7 PR 152
o 1. 3q ¢¥H urel (TDP)
X 2. URdg g HE
X 3. YRR ST aref
X 4. YSR &9 uref
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Q.29 9 gRT 2025 H R SARTEIT AR WIS (I0Med) BT WU I HT 32
Ans X 1. SIRIET HTUR FHNC 1 T P & foT¢ T Hel T AT

X 2. 97 ifa Sifirt & e & foN U HY ueH SRl

X 3. g Y FR&M URYG &1 UfawTiid

o 4. AR & A1ed ¥ fare & ifaqel e g U H9 U &Rl

Q.30 7S 2025 ¥ XeTS, 9 F i 9 HU VW 2 & Uw AR Wl ugw Afed fiH uew
Frafafea & & f&w afgar st A sfia?

Ans X 1. eyt afaif
o 2. HYT YTHURTIIH
X 3. A g aaq
X 4. difte HART

Q.31 yrEidig UsR ®) yimifa = (geologically) & fRR i AT wiem 82
Ans 1. 7% g o wfraa ard T Ui s & R R R

X 2. 98 9ReR We Jug &7 § RA g
2 3. U8 Tfthg Y=M & 1Y U gaT aferd gdd Yurel &1 e g1
X 4. 98 B4 81 H gU SATerHE! IaRT 3R Ul I S 5

Q.32 it d A sH-0 g afemat, g ¥ e § fifta 78 82
Ans X 1. o faduel &) Wipfd &1

X 2. T 3Mh AT Al BT TR HAT

X 3. fayrdea o 7 &1 goic URgd BT

o 4. 03 FY B AT BT

Q.33 Sfe IS gEI: ¥ SR I B
Ans X 1. Sdarg uRkadd

o 2. THTAS I 3R AT

72X 3. 3T 3R YU

X 4. Y& 3R SITar™! IERI

Q.34 7S 2025 §, AT s ey & widgan 2 39 A ofiq g1l 31 ardl tga HRAG SRR
freaffea A d HT 32

Ans X 1.SgM greardn
X 2. 3 B
X 3. HeudS®
o 4. DRI

Q.35 fPHu HATT A 14 [ 2025 P HRA H3UH, T3 feet! H HRIRT Aegwiar: faarg s &
fore T guTel gfar wR Ity IR e #1 smdter fpar?

Ans X 1. faqw HaTed
X 2. 78 HAT™
3. 138 Td g warery
X 4.8 HATT

Q.36 %ﬂ;%h@%mw%ﬁﬁwqﬁmuﬁw(cm)aﬁmaﬁ
?

Ans X 1. 3¢ 324
o 2. 3G 148
X 3. 34 280
X 4. TG 76
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Q.37 7 2025 ¥ fa URdT TR 3 gloggasidt ufoRiy &1 gaaar #319 & 3539 9 Al
IUHVT fapRia # & fore sfErar A+ (INRIA Saclay) & T1Y JganT fear?

Ans X 1.ISc SR
& 2. IIT-Reeh
X 3. TS
X 4T TS

Q.38 Sa 2025 § A A SPpP U F R fra Rafeal o ot RepR (@swersn) A
Tt fopar mare?

Ans X 1.3
X 2.5
3.2
X 4.4

Q.39 a3 2025 TF Pt (UMM F IR, YR IRBR §RT fha-it URART UTIISH B fisTRG
TR W AT YTisif & =9 | 91=ad1 UeH &1 T8 872

Ans X 1.7
o 2.1
X 3.5
X 4.9

Q.40 2025 ¥ f5a fafy ot fay warea faw awmar w1, Rrad <awy e, smmyet yfs
AT U BT AU §3M?

Ans X 1.10 3fUd 2025
& 2.7 30d 2025
X 3. 12 310 2025
< 4.5 3M0d 2025

Section : Mathematics

Q.1 Which of the following numbers is divisible by 14?
Ans 25 1.67,94,266

5 2.71,32,960
/< 3.64,36,639
o 4.70,48,048

Q.2 Train A leaves station M at 8:20 AM and reaches station N at 3:20 PM on the same day.
Train B leaves station N at 10:20 AM and reaches station M at 3:20 PM on the same day.
Find the time when trains A and B meet.

Ans X 1.12:35PM
X 2.12:15PM
X 3.12:05 PM
o 4.12:25 PM

Q.3 If the marked price of a calculator is ¥600 and ¥50 discount is offered on the calculator,
then find the discount percentage (correct to two decimal places).

Ans X 1.9.53%
X 2.10.33%
& 3.8.33%
X 4.7.53%
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Q.4 Anubhav and Gaurav start a business. Anubhav invests ¥37,000 more than Gaurav for 3
months and Gaurav invests for 4 months. Anubhav's share is 1,745 more than that of
Gaurav, out of a total profit of ¥8,725. Find the capital contributed by Anubhav.

Ans X 1.374,002
X 2.374,122

" 3.374,000
25 4.%73,800

Q.5 A, B and C started a business investing ¥2,410, 1,170 and 700, respectively. If B's
share in the profit earned by them is ¥1,092. what is the difference in the profit (in ¥)
earned by A and C?

Ans 50 1.%1,597
X 2.31,593
X 3.31,595
o 4.31,596

Q.6 Find the value of [592 + {12 + 2 x (3 - T)}].
Ans X 1.147

X 2.145
o 3.148
X 4.152

Q.7 The marks scored by 10 students are given below.
12, 14, 16, 13, 15, 14, 16, 10, 16, 12

The mode of the data is:
Ans 113

X 2.12
o 3.16
X 4.14

Q.8 Abus travelling at 28 km/hr completes a journey in 20 hours. What should its speed be
to cover the same distance in 14 hours?

Ans X 1.39 km/hr
" 2. 40 km/hr
25 3. 50 km/hr
25 4. 34 km/hr

Q.9 In an election between two candidates, 95% of the registered voters cast their vote and
20% of the votes polled were found invalid. The winning candidate got 59% of the valid
votes and won the election by a margin of 1881 votes. How many voters were
registered?

Ans 25 1.13751
o 2. 13750
X 3.13749
X 4.13747

Q.10 . : 5 e : : s
By selling an article at Tl of its actual selling price, Hitesh incurs a loss of 15%.

If he sells it at 90% of its actual selling price, then the profit percentage 1s:
Ans X 1.67.4%

o 2.68.3%
X 3.69.8%
X 4.66.6%
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Q.11
Ans

The LCM of the numbers 2.1 and 0.35 is:
25 1.0.021

X 2. 21
< 3.0.21

o 4.2.1

Q.12

Ans

The H.C.F. and the L.C.M. of two numbers are 25 and 250 respectively. If one of the
numbers is 50, find the other one.

X 1.175
X 2.150

X 3.75
o 4.125

Q.13

Ans

ABCD is a quadrilateral with £A = 3(x + 2)°, 2B =2(2x - 7)°, 2£C =69° and 2D = 2C - 8°.
What is the value of 2B?

X 1.128°
X 2.183°

o 3.122°
X 4.153°

Q.14

Ans

A shopkeeper marks a product 40% above the cost price. He offers a discount of 20%
on the marked price and sells it. What is his gain or loss percentage?

o 1.12% gain
5 2.15% gain
25 3.8% loss

25 4.10% loss

Q.15
Ans

The average of first 153 odd natural numbers, is:

& 1.153
X 2.154

X 3.1525
X 4.1535

Q.16

Ans

If 2 times the age of Ram is 30 years more than 4 times the age of Ramya, and 5 times
the age of Ramya is 6 year less than the age of Ram, then what is the difference (in
years) between the ages of Ram and Ramya?

X 1.17
218
X 3.15
X 4.13

Q.17

Ans

Find the total surface area of a cuboidal box whose length is 84 cm, breadth is 45 cm
and height is 25 cm.

X 1.14,250 cm?
« 2.14,010 cm?
X 3.14,120 cm?

X 4.14,380 cm?
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Q.18 Pipe A can fill a tank in 12 hours, pipe B can fill the same tank in 21 hours and pipe C
can fill the same tank in 16 hours. The time taken by them to fill the same tank if they
operate together is::

Ans 11
<1 lahaurs

11
x 2. -
11 65 hours

o3 511h
o5 ours

11
X 4 Zahaw‘s

Q.19 The cost of 7 pens and 13 pencils is ¥128. If the cost of a pen decreases by ¥7 and the
cost of a pencil increases by %2, then the cost of 14 pens and 10 pencils is ¥98. What is
the original cost of 9 pens and 7 pencils?

Ans &S1.3117
X 2.3112
X 3.3111
 4.3116

Q.20 By selling 6 tablets for a rupee, a man loses 35%. To gain 30% how many must he sell
for a rupee?

Ans o 1.3
K22
X 3.4
X 4.5

Q.21 Find the simple interest (in ¥) on ¥1,200 at an interest rate of 4% per month for 7
months.

Ans < 1.%336
o 2.328
X 3.356
X 4.348

Q.22 The perimeter of a square is 52 m. Its area (in m?) is:
Ans 51172

X 2.168
" 3. 169
X 4.180

Q.23 4 men can complete a piece of work in 18 days, while 9 women can do it in 8 days. In
how many days can 3 women and 3 men complete this work?

Ans X 1.17 days
25 2. 11 days
w* 3. 12 days
/5 4.16 days
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Q.24  Find the value of: 6675 = 66! x 66712
Ans X 1.667%

X 2.66734

& 3.66728

X 4.66725

Q.25 7
Simp!ify:3((§)xz — 28x + 14)— 7(x?+ 4x — 14)
Ans X 1.112x+ 140

X 2.-112x - 140

X 3. 112x - 140

o 4. -112x+ 140

Q.26

(1 + cos A)
(1 — cos A)
Ans X 1.cosec A + tan A
X2cos A+ cotA
X3sinA 4+ tan A
« 4 cosec A + cot A

Siunphify:

Q.27 Find the mean proportional between 25 and 36.
Ans 2 1.33

o 2.30
K 3.27
X 4.32

Q.28 Find the simple interest (in ¥) on ¥4,000 at 7.5% per annum rate of interest deposited on
10 February 2024 and withdrawn on 11 April 2024.

Ans X 1.51
X 2.48
X 3.49
o 4. 50

Q.29 A number, when decreased by 7%, gives 2790. The number is:
Ans «* 1. 3000

< 2.1500
< 3.9000
< 4.6000

Q.30 The number of prime numbers lying between 472 and 486, both included, is:
Ans W 1.1

X 2.6
X 3.5
X 4.2

Section : General Intelligence and Reasoning
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Q.1 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All horses are cats.

No horse is a lion.

Conclusions:

(1): Some lions are cats.

(I1): All cats are lions.

Ans #5 1. Only conclusion (1) follows.

25 2. Only conclusion (Il) follows.
25 3. Both conclusions (1) and (II) follow.
" 4. Neither conclusion (I) nor (Il) follows.

Q2 |narowof people all facing north, Pranali is 215t from the left end and Anuj is 23" from
the left end. Anuj is exactly between Pranali and Harish. If Harish is 8™ from the right
end of the row, how many people are there in the row?

Ans 501,31

o 2.32
< 3.33
& 4.30

Q.3 Based on the English alphabetical order, three of the following four letter-clusters are
alike in a certain way and thus form a group. Which letter-cluster DOES NOT belong to
that group? (Note: The odd one out is not based on the number of consonants/vowels
or their position in the letter-cluster.)

Ans X 1.0VP

/5 2.LSM
X 3.1PJ
o 4. RYT

Q.4  Which of the following letter-number clusters will replace the question mark (?) in the
given series to make it logically complete?"
CKS 11, ZHP 23, WEM 47, TBJ 95, QYG 191, ?

Ans «" 1. NVD 383

25 2.NOD 383
25 3.DND 383
5 4.NVD 381

Q.5 What should come in place of the question mark (?) in the given series?
58,64,73,85,100, ?

Ans X 1.121

" 2. 118
< 3.119
5 4.120

Q.6 Each of the digits in the number 31246978 is arranged in descending order from left to
right. The position of how many digits will remain unchanged as compared to that in the
original number?

Ans < 1. Two

w” 2. None
/< 3.Three
5 4.0ne
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Q.7

Ans

T fAf3a ge wrar d,

ASBHT ISR A BRI

A+BIFTIIRfF A BRITUE R

A@BFHT I fF A BFIUA &

A:BHTAfgfH A BIHIUGT®

SR P YR W, ACE+F$G @M = N’ g, df E BTN A T Ja9 872
K1
X 2.9fd
< 3. fuar

o 4 W18

Q.8

Ans

Which of the following letter-number clusters will replace the question mark (?) in the
given series to make it logically complete?

IQA 15 GMB 8 EIC -1 CED -12 ?
< 1. BCE -54

7 2. DNE -45
& 3. AAE -25
< 4.BAE -33

Q.9

Ans

eI, K, L, T, U 3R V T Ta A9 & IRa: ITF Ig Bt iR §g PP 98 81V, LFH a1Y
TRVYF WIS, NUF UGN R™AREIJ, UF ST SIH IS T ST 81 T, K F 91T
TR WM W IST 81 TH 91¢ 7R W T 3R U F e fpa safer 98 82

& 1.3
X 2. Ud Wt et
X 3.1
X 4.aH

Q.10

Ans

MERIT is related to RUWNY in a certain way based on the English alphabetical order. In
the same way, DRAWN is related to IWFBS. To which of the given options is SHAPE
related, following the same logic?

< 1. WLETI
o 2. XMFUJ
X 3. YNGVK
X 4. YMETK

QN

Ans

Seven boxes U, V, W, X, E, F and G are kept one over the other but not necessarily in the
same order.

Only V is kept above E. Only W is kept between E and U. Only F is kept below X. How
many boxes are kept between G and F?

25 1. Two
25 2. Four
w* 3.One
X 4.Three

Q.12

Ans

Based on the English alphabetical order, three of the following four letter-cluster pairs
are alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT
belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their
position in the letter-cluster.)

o 1.GK-Ql
X 2.MQ-WN
X 3.IM-SJ

X 4.KO-UL



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247 Eonale Play

Q.13 Select the set in which the numbers are related in the same way as are the numbers of
the following sets.

(NOTE: Operations should be performed on the whole numbers, without breaking down
the numbers into their constituent digits. E.g. 13 — Operations on 13 such as adding
to/subtracting from/multiplying with 13 can be performed. Breaking down 13 into 1 and
3 and then performing mathematical operations on 1 and 3 is not allowed.)
(32, 64, 54)
(23, 46, 36)
Ans 501.(21, 42, 52)

W 2. (29, 58, 48)

&< 3.(18, 36, 16)

5 4.(25, 40, 30)

Q.14 AJLR is related to XHIP in a certain way based on the English alphabetical order. In the
same way, OBZJ is related to LZWH. To which of the given options is FVQD related,
following the same logic?

Ans 25 1.CBNT

/5 2.CTBN
«" 3.CTNB
5 4.CBTY

Q.15 Kishan starts from Point A and drives 15 km towards East. He then takes a right turn,
drives 9 km, turns right and drives 8 km. He then takes a left turn and drives 6 km. He
takes a final right turn, drives 7 km and stops at Point P. How far (shortest distance) and
towards which direction should he drive in order to reach Point A again? (All turns are
90° turns only unless specified.)

Ans X 1.15km towards South

25 2. 18 km towards East
#5 3. 18 km towards North
«” 4. 15 km towards North
Q.16 This question is based on the five, three-digit numbers given below.
(Left) 564 782 368 225 743 (Right)
(Example: 697 — First digit = 6, second digit = 9 and third digit = 7)
(NOTE: All operations to be done from left to right.)
If 2 is added to the first digit of every number, in how many numbers will the first digit
be exactly divisible by the second digit?

Ans X 1.Three

25 2. Two
£ 3. None
w” 4. 0One

Q.17 In a certain code language, ‘PANK’ is coded as ‘1846’ and ‘KINA’ is coded as ‘1689’.
What is the code for ‘I’ in the given code language?

Ans W 1.9

X 2.1
5 3.8
X 4.6
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Q.18

Ans

Refer to the following number and symbol series and answer the question that follows.
Counting to be done from left to right only.

(Left) ©OT#6$6478&%4%27€658*$ 44 (Right)

How many such numbers are there each of which is immediately preceded by a number
and also immediately followed by a symbol?

X 1.5
X 22
3.3
X 4.4

Q.19

Ans

If + means —, — means x, x means + and + means +, then what will come in place of the
question mark (?) in the following equation?

4-5+40%x4+23=7?
X 1.19

& 2.7

X 3.2

X 4.13

Q.20

Ans

What will come in the place of the question mark (?) in the following equation, if ‘+’ and
‘-’ are interchanged and ‘x’ and ‘+’ are interchanged?

35x5+7-11+8=2?
X 1.53

o 2.52

X 3.51

X 4.50

Q.21

Ans

H, 1, J, P, Q, R and S are sitting around a circular table facing the centre of the table.
Only one person sits between H and Q when counted from the left of Q. S sits third to
the right of R. J sits third to the left of P. S sits to the immediate right of J. | is not an
immediate neighbour of J.

How many people sit between | and Q when counted from the right of 1?

25 1. Two
< 2.0ne
25 3. Four
" 4. Three

Q.22

Ans

In the following triads, each group of letters is related to the subsequent one following a
certain logic. Select from the given options, the one which follows the same logic.

DEAR - DRAE - RAED
BALM - BMLA - MLAB

/< 1. SWAG - SAWG - GAWS
/X 2. MEAL - MELA - EALM
/< 3.BURN - UBRN - NURB
" 4. MOST - MTSO - TSOM

Q.23

Ans

Based on the English alphabetical order, three of the following four letter-cluster pairs
are alike in a certain way and thus form a group. Which letter-cluster pair DOES NOT
belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their
position in the letter-cluster.)

& 1. PL-IM
X 2. KG-DI
X 3.IE-BG
X 4.NJ-GL
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Q.24 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All jars are cups.

Some jars are kettles.

Conclusions:

(I) Some cups are kettles.

(I1) Some kettles are jars.

Ans 25 1. Only conclusion (1) follows.

25 2. Only conclusion (I1) follows.
" 3. Both conclusions () and (Il) follow.
25 4. Neither conclusion (1) nor (Il) follows.

Q.25 Town A is to the east of Town B. Town C is to the south of Town A. Town D is to the east
of Town C. Town E is to the south of Town D. Town F is to the east of Town E. What is
the position of Town F with respect to Town A?

Ans X 1. Northwest

25 2. North
25 3. Northeast
" 4. Southeast

Q.26 Each of the digits in the number 3417659 is arranged in the ascending order from left to
right. What will be the sum of the digits that are second from the left and second from
the right in the new number thus formed?

Ans X 1.12

" 2.10
50311
K49

Q.27 Seven boxes, A, B, C, D, E, F and G, are kept one over the other but not necessarily in

the same order.
Only G is kept above B. Only F is kept between B and C. Only E is kept below A.
How many boxes are kept between E and F?
Ans X 1.4
W 2.3
X 3.1
5 4.2

Q.28 What should come in place of the question mark (?) in the given series?
285260 237 216 197 ?

Ans o 1.180

25 2.150
25 3.160
5 4.170

Q.29 What should come in place of the question mark (?) in the given series?
879 880 884 893 909 ?

Ans X 1.931

o 2.934
< 3.937
25 4.929
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Q.30 In a certain code language, ‘OLEA’ is coded as ‘1542’ and ‘PEAL’ is coded as ‘4651°.
What is the code for ‘P’ in that language?

Ans X 1.4
X 2.1
X 3.5
4.6
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